A

55

24-10- 209 4 q L

\
1) Which word do not fit in the "roup od g
T F FHOTRT QA POTAT ?

(A) Pistol (C) Sword

(B) Gun (D) Cannon
2) 832 X455-832X355=

¢33 X ¥YY - (I x 34y = 7

A) 83200 _£) 8320

B) 82300 D) 832000
3) Find the contradictory word from the following words:

Acre, Kilomelter, Square feet, Hector

Rarear ereaiddT AT e QM.

A) Acre C) Square feet

B) Kilometer D) Hector '

! £ QTUVLRY
ppykLranNoPaR ==

4) What should come in place of question mark (?) {, Ee—F

meAfgTear Sl F1I ATA?

AY, BX, CW, DV, ?
A) GH _C) EU
B) EF D) EV

$) Ifin the number *“5321674" all the digits are arranged in descending order from lefi to right, how many digits will
remain at the same position ?

msa:zebxmmmaﬁﬁaﬁmmmmmmﬁmmmw

1 ﬁ‘lﬁ)e\ C) Two
. ﬁr}@(% ¢ ii24sey ) D) Three a3

76 549321 .
6) Following question is based on the five words given below, Study the following words and answer the question :

T oA WA T e TR . WA eq IFAH T frekear FRard Sl .

SAND CARE RUIN MOON NICE
If the letters are arranged in alphabetical order within the words then how many words will start with a vowel?

TR TS AUTHRT IR AR Aeardt Tl e, el areaielt Tt sl T S$A?
A) One C) Two
B) Three D) Four

AEot —om) 5T
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. i s and answer the question :
7)  Following question is based on the five words given below, Study the following words q

T T AT O e ImaTRE IR T Wee HArET F feeedr yead e g
® & & 0O

\\SANI) CARE RUIN MOON NICE

~

If the given words are arranged in the order as they appear in a dictionary from lcfl to right, then which of the
following word will be second from the right end ?

SR RS ez Aizoh TR STFEA SRS Fel. T ISP G AUIRT 2AeE FIOTAT? ,

A) RUIN C) SAND
B) MOON D) NICE

8) Following question is based on the five words given below, Study the following words and answer the following

question :

TEd TR Wl U1 Qeaiay MU e Wrellel e 3T T Aedr g 3} &4r.
SAND CARE RUIN MOON NICE

If in each of the given words, every consonant is changed to its previous letter and every vowel is changed to its
next letter according to the English alphabetical series, then in how many words, thus formed, at least one vowe)
will appear ?

SR et UeTe S % o & arear H AUN-AT IR 7 TAF T L AredEa] dur-ar

?usﬁaﬂmﬁzﬁwarmmmﬂmﬁ.mam@mmﬁ%ﬁ%mia%nmwmm

A) One C) Three
B) Two D) None

9) A, Band Care sisters. D is the brother of E and E is the daughter of B. How is A related to D?

. ABIT CEAT afgOM HRA. DETE A1 15 312 TE & B Horalt 3. X A D o a1y Fra
P A) Sister C) Niece

¢ "+B) Cousin D) None of these
R 87 .
@ 13 Statement : Ability is poor man’s wealth

\Y

c -

z/ Y faumer: ewren & s o Faeh .
’ 9= 7\ Conclusions :
& rsare;
A) A poor man is always able. C) A wealthy man is always able,
B) A poor man has the ability to earn wealth. D) A poor man can eam wealth if he has ability.

11) In a group of five people, K,L and M are ambitious, M,N and R honest .L.M and K,N and R are industrious,
Among these neither industrious nor ambitious person (5) would include.

WWWK,LWM?WW:M,NWRWW; L, M 3nfor
K,Naamm.mmmmamm\mm

A) K alone C) MandN

B) LandR

D) None of the group

2-23.8
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12)

13)

14)

15)

Consider the following figures:

el ATl ST ©aT.

6 3 9 9
80 | 24 120 | 36

What is the missing number?

T Sl g Ao

A) 7 L) 9
B) 8 D) 10

Rajuhas R<.9000 with him and he wants to buy a mobile handset;but he finds that he has only 75% of the amount
required to buy the handset. Therefore, he borrows Rs.2000 from a friend. Then

TSHS Rooo T IR, ATl Alge WG FEAMET HR. W FARBA WA FAAT AedEs
Ararseredr A a v9% TEEH 3T ATEdT WETd A, FEUA A g 000 T
3FATR Ode, TR

A) Raju Still does not have enough amount to buy the  C) Raju has enough amount to buy the handset

handset and he will have Rs.500 with him afler
B) Raju has exactly the same amount as required to buy buying the handset
the handset D) Raju has enough amount lo buy the handset

and he will have Rs.1000 with him after
buying the handset

Rohan walks a distance of 3 km towards North, then tums to his left and walks for 2 km, He again turns left and
walks for 3 km. At this point he turns to his left and walks for 3 km. how many kilometers is he from the starting
point ?

Ve Icatas 3 et IR Tred FeaEer ar srdies daet 2 el areer. a e srdiee d@er @
3 Rl aTerer. §AT SAEEE At SIS g 3 fRel arerer. O A FrATd Feredr T e
HATE HTE?

A) 1km C) 3 km

B) 2km D) 5km

Among five friends Mahesh is taller than Kunal but not tall as Yash. Ajay is taller than Yash but smaller than
Abhishek. If they stand in increasing order of their heights, who will be first in line ?

qre A AR g7 FUNGYRT 39 3T, W I AR 3T AR HoI § TART 3T He. W
Mwm.mammmwmmmmmmm
?

A) Abbhishek C) Kunal
B) Yash D) Data inadequate

M< k=Y < ASH
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) : x ¢ p Wl' ¢y "
1) I a certain language | ‘pre nat bis” means ‘smoking is harmful®, vog dor nal’ means ‘avoid harmful habi’ and |
) ¢ ’ ‘ y 1 P> | ‘ toy s :
‘dor bis vel means ‘please avoid smoking’. Which of the following means habjt in that language 7

T T W ‘pre nat bis* ¥gUTa ‘smoking is harmful’, ‘vog dor nat' FgUTa ‘avoid harmfy
habit® 38T ‘dor bis yel' #gUIsl ‘please avoid smoking'. &R I ey #Yorear srearar 379 "habit

34T e ?
A) \fog C) dOl’
\)» nat ‘ D) bis

17) Glucometer : Blood Sugar : : Sphygmomanometer : ?
TP . TFATHA WRR 1 RmaAHA ;2
A) Earthquake , C) Atmospheric Pressure
‘B),Blood Pressure D) Specific Gravity

18) Cardiologist : Heart : :Dermatologist : ?
BEIRNT T @ & IARNT T ?
A) Dream C) Skin
B) Diabetes D) Infertility

19) Botany : Plants : : Seismology : ?

TATTARET : Tl =2 sHIET 2
A) Birds C) Earthquakes
B) Animal D) Water

20) Which word do not fit in the group:
AT A FHUIRT e FHIUTAT ?

A) Diamond C) Coal
B) Gold , , ' , D) Graphite

21) The sum of three consecutive numbers is 93. The greatest among these three numbers is

et et Aomr-ar FEAr S /3 HR, R T T FEA T A Fwar o

3
30 }_S ) 29
A) 27 v 2\ C) 30 4 246 -’_3:_____
B) 28 o \ D32 ki T

22) Ganesh sold a car to Sarthak at 15% profit, Sarthak sold car to Ankur at 5% loss for Rs.43,700. Find the price at
which Ganesh had purchased the car.

AR 2% BT UG OF R AR AFE. FEHEX 4% AT Ted FA N FR IHFTET 43 oo

.1 fa@wel, O o Y R P ToaAeY @l F40

A) Rs.40,000 C) Rs.48,000
B) Rs.32,000 D) Rs.46,000

23) 2589*1 is completely divisible by 11. Which digit from below should be in place of *?

RYCRet AT HEAWAT 08 & qUT 19T SATUATATSY « T S WIeerddhy FOTAT 3 IATET?
A) 3 C) 7
B) 4 D) s

Z-23-B 6




24) Find the set of'chamclem in place of question mark:

v25 .

ACF16 BD(‘\Q(P CEHLQ, 2. _’DﬁI MQv

A) MR C)_DFIMR
B) DF]NR ‘I/)))—_gFlMS

(3]
n
~

Price (.>f an article is Rs.3500 and is sold at a 10% discount. A further discount of 5% is given due to off-season.
What is the selling price of an article?

TH 3900 &, AN a7 t0% HE 4q7 RAbeqray Htear FFadiel W #AS 9% T el X

T TEIA kY fhwa e
A) Rs.2975.5 C) Rs.3100
B) Rs.2992.5 D) Rs.3050

26) Find oddman out regarding the Maharashtra Right to Public Services Act, 2005.
FERTS NHAAT goh HTAFAGH, 00y TUT IS TSI 3BT

A) Transparent C) Freedom to expression
B) Efficient D) Timely
27) 1 colorie = Jules.
3z 1 O — g
A) 3.6x 10° C) 1356
B) 4.184 D) 746
28) Who won Indians first Olympic Gold Medal in Athletics?
i eraftaaaed afge gavives SiwoRT s -
A) P.V.Sindhu C) Major Dhyan Chand
B) Neeraj Chopra D) Mirabai Chanu

29) Which one of the following does a TV remote control unit use to operate a TV set?

RRmamh Farear RAE FATAA .......ooen. o7 TR el ST
A) Light waves C) Microwaves
B) Sound waves D) Radio waves

30) The language spoken by the largest number of native speakers in the world is:

HefAariieg Faifs draell SO FIfAd a1 ... e,
A) Hindi C) Mandarin
B) English D) Spanish

31) When is the World Patient Safety Day observed?

ST FI0T FIAT fead dhegl WIowT Fodrd A,

A) September 15 C) September 17
B) September 16 D) September 18

32) ‘EVM’ stands :

$.EN.UH. FEUTS -
A) Electric Vending Machine C) Electronic Voting Machine
B) Electronic Vending Machine D) None of the above

Z-23-B 7




34)

35)

36)

37)

38)

39)

40)

&) Rajdecp Sardesai rang o ST
B) Karan Thapar C)" Kuldeep Nayar
D) Sanjaya Baru

Which country’s Tiger Census has set a Guj

s G s
largest camera trap wildlife survey? Hness Record, for being the world's
FIOTAT ST SATEROTAE sifg %
g %mmmmmm,sﬁmmmmv
<T TEISNT HIETOT AEQH IMR?
A) Indonesia C) Russia
B) India D) Malaysia
Carlton Chapman, who passed away recently, is associated with which sports ?
Feled J9HA, SATY Thord AT s, & a1 Worh TefiT 2.
A) Cricket C) Basket Ball
B) Hockey D) Foot Ball
Which organisation operates the ‘FAST Tag’ in India?

T HIOTAT TEAT HRATT “BIES 7 JoTel gy

A) Tata Consultancy Services C) National Highways Authority of India

B) Highways Department of states ) State Bank of India

The world’s largest COVID care centre was established in which Indian state/ UT?

SIS Fald HNS FIfAZ HIN HeX § HRATHNT WAeT TATa/ R Geema SHRUATT H e
A) Maharashtra *iG) Gujarat

B) New Delhi D) Tamil Nadu

Which Indian-origin nurse has been conferred with the Singapore President’s Award

for COVID-19 Services?

QI .............. mmmmmm-eqm&mmammm
HeATAT FRUATT 3.

A7y Kala Narayanasamy C) Ankit Bharat

B) Bhasha Mukherjee D) Uma Madhusudan

Who has composed India’s Official Olympic Theme Song for Tokyo Olympics?

A) Mohit Chauhan C) A.R.Rahman

B) Arijit Singh D) Shankar Mahadevan

Who was the captain of the Indian men's hockey team for the Tokyo Olympics?
AfFa) Jiiffsdar SR qey gidr garar FUTUR HIOT gIam

A) Manpreet Singh C) Harmanpreet Singh

B) PR Sreejesh D) Birendra Lakra

2-23-B 8
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41) The se{t coast of which one of the following states has become famous as a nesting
place for the Olive Ridley turtles from Pacific?

mmmmmmﬁmmmmm

R
A) Goa

C) Odisha
B) Gujarat

D) Tamil Nadu

42) If the act passed by parliament proved that it is against the principle of constitution, it is
termed as:

SR A Foldl TEIET FAST TTITdl Jeaiear A 3@ X 317 F1¥eT a7 A6 WSTen FAa:

A) Ultravires C) Tllegitimate
B) Intravires D) Legitimate

43) Which of the following sequences of Ghats in Maharashtra from South to North is

correct?

FERTSCIAS Wiellel "reTT SfAIviega Icaias FIvEr FA aOas e ?

A) Bor, Kumbharli, Amba, Fonda C) Kumbbharli, Fonda, Bor, Amba
B) Fonda, Amba, Kumbharli, Bor D) Amba, Bor. Fonda, Kumbharli

44) Most of the matter in the universe exists in the

fararclier sgas gert Forear Rrda sfaara smara?

A) liquid state C) gaseous state
B) solid state D) plasma state

45) An example for non-renewable source of energy:
TTTeTdhT 0T HINTAAT 3o 3STET0T 32

A) Solar energy C) Wind energy
B) Petroleum D) Water power

46) In which district of Maharashtra the first co-operative sugar factory was established

HERTSZIAT WMoY oredr fSrogdrd Ifeer gl SRETAT & FI0ANT HTem?

A) Kolhapur C) Ahmednagar
B) Sangli D) Pune

47) Which one is recognised as “State Tree” in Maharashtra?
WTeATedT FIOTET FETH FAERISE Al ‘Mo gar FOud Sd ?
A) Banyan tree C) Neem tree
B) Jackfruit tree D) Mango tree

48) After returning from South Africa, Gandhiji launched his first satyagraha in 1917,

a7
Qy

o7

g
<

n;

PRt AT WI3Y IHMhdEA R HedraT Medshalr ... AYA 9l HeamrgTar HRH Far.
A) Chauri-Chaura C) Champaran

B) Dandi D) Bardoli

Z-23-B 9



49) Who 'Which of the following is the custodian of the Constitution of Tndin?

................... ¥ Ay ERUTEATY 18TE NI

A) The President of Indin C) The Lok Sabha Secretariat
B) The Prime Minister of India D) The Supreme coutt of India

50) Recently, for the first time in our country, which of the following States has declared
Blue mormon butterfly as *State Butterfly*?

THAT WIENATH e I TS A FAGUH ‘s A FATEART T Ferar@s” a1
g e IR,

A) Arunachal Pradesh C) Karnataka

B) Himachal Pradesh D) Maharashtra

51) Fill in the blank with appropriate pronoun

*‘One should not boast of ....... Merits’.
A) his C) one’s
B) hers D) its

52) Combine the following sentences into simple sentence.
He had many faults. But he was a good man at heart.
A) Though he had many faults, he was a good man at heart. C) As he was a good man at hearl, he had many

B) In spite of having many faults, he was a good man at faults.
heart. D) While he had many faults, he was a good man
at heart.
53) Sheela was kept waiting by her husband. Change the voice.
A) Her husband wanted Sheela to wait. C) Sheela was made to wait by her husband.
B) Her husband kept Sheela waiting. D) None of the above.

54) Choose the correct version of No sooner-than
‘As soon as the day of sunlight is over, the day of moonlight begins.’

A) No sooner does the day of sunlight over than C) No sooner is the day of sunlight over than the
the day of moonlight begins. day of moonlight begins.
B) No sooner the day of sunlight is over than the D) No sooner did the day of sunlight over than the
day of moonlight begins. day of moonlight begins.
55) ___ his principles, he has to be very careful.
A) with regard of C) with regard to
B) withregard on D) None of these

56) Choose the word spelt correctly.

A) Ambulance C) Ambulancs

B) Ambulence D) Ambalence
57) Heaims __ passing this test,

A) on C) with

B) at D) upon

Z-23-B 10



38) Find out one correct alternative of type of tense of underlined word.
When a farmer was returning home [rom the market, dark clouds gathered the sky.

A) Simple past tense C) Dast continuous tense
B) Present continuous tense D) Future continuous tense
59) The way he is burning the candle at both ends, he will soon be a pauper. The underlined phrase means ...............
A) To be extravagant C) To be moderale
B) To be reasonable D) None of the above

60) What is the Meaning of Solt-Soap?
A) Adamant C) Inspire
B) Suffuse D) Gentle Urging

61) Choose the correctly spelt word.

A) Atmasphere C) Atmesphere
B) Atmosphare D) Atmosphere
62) He was a good swimmer so he swim to the river bank when the boat sank.
A) Could C) Succeeded
B) Might D) Was able to

63) Read the information carefully. Choose the specific word that is described in the clue.
‘ Many people believe that if a cat crosses your path, then your work will not be done. Many times people believe
in things which are not really logical or reasonable. It is called
A) Trust C) Fantacy
B) Fact D) Superstition

64) Complete the dialogue with correct option

Meena- [ am getting ................ it's too cold here.

Mother- Don’t worry dear. I'll bring sweater for you.

A) Bored C) Tired

B) Confused D) Chilled to bone

65) Choose the word closest in meaning to the word printed in capitals in the following sentence :
The company’s future is CONTINGENT on the outcome of the trial.
A) Contagious C) Contiguous
B) Dependent D) None of the above

66) Change the following into indirect speech :
He said, “T have been helping the poor.”
A) He told that he has been helping the poor. C) He tells that he has helped the poor.
B) He said that he had been helping the poor. D) He says that he is helping the poor.

67) Find odd man out
A) Freedom C) Poverty
B) Wisdom D) Poor man

68) ldentify the type of underline word.

Komal got a beautiful dress at the mall.
A) Preposition C) Noun
B) Adjective D) Conjunction

Z2-23-B 11



69)

70)

70)

72)

73)

74)

75)

76)

17)

78)

No sooner did 1____ theroom the intruder ran away.
Choose proper words from the following words to fill in the blanks in the above sentence,

A) entered, than C) entored, then
B) enter, than D) enter, then

Which one of the given options is correct about the given sentence?

*Either she or they have to attend the meeting’

A) right C) use of they in the sentence is wrong
B) wrong D) verb ‘have’ should be ‘has’
Change the following into indirect speech.

He says, “Itis a fine day”

A) He said it is a fine day. C) He says that it was a fine day.
B) He said that it was a fine day. D) He says that it is a fine day.
It was a very fine morning.

Which of the options best represents the exclamatory form of the above sentence?

A) What was the fine moming! C) The morning was very fine!
B) How fine was the moming! D) What a fine morning it was!
Antonym of Blunt

A) Easy C) Sharp

B) Lazy D) Speedy

Synonym of Abjure

A) To give C) Happy

B) To take back D) Sorry

Choose the word spelt correctly.

A) Maxculine : C) Masculine

B) Massculine D) Macsculine

e @I VR WY AT ATFFERTET Wy A9 3 FHrordr ?

A) FHFAEAT AR T C) |IE HIAT WA

B) HIYERYW MM D) fameriequms @ierear s gda
gree ¢ 4T rserear faweerdl e e,

A) dagd C) WFA

B) 3fardd D) qUdst

TETEr IO, HISUT FOT I HAUTAT qFHEAR HSET.

A) FTATATY T C) & i QoY

B) FT IS FHFraor D) &R dTgor

z-238 12



79) STONRRTCIAT FICRT coerTae_gaile HHId S,

HURTAT ACHHETHE W Ay arFar e,

B) 3may A0y D) el Heel &0l
80) AR NSOV AT ATEFTERTT qETIRT 3 Forar 2

A) HERTA R g moTor C) Add FO

B) ISAERA Aoy D) @I FCT FOT

81) G AT Qrea@aTer Tt Rl ger e R ?

Go,,&c\"*
A) TR o) @ ;ﬁ*

ol
B) = D) T&H %

82) Fdl T AT HAJTHIAE ITT AT ST HOTAr 2

A) SLHERE - UARR C) T.T.3FD - HISHTR
B) UHT M - TS D) R & - §FR
§3) "UCHAGTICE T Uea’ e e, iy g S faas.
A) SeT=AT AT d-gad C) AEY FAEATAT HTAA-HA AT
B) 3SMSUATIEET HHI-THTE D) §aFa &1d SAIUTRT Feel- Schich.

84) BTG SHAET STUT T HTcHRYA HIOTA?

A) 3THEET ST 3T AT C) o 3iifes anfor #
B) &-&% qrofr D) TreAdTerdr
85) PR HS.

IO @AWT 9T ST |
A) TSI HAFR C) 3BT HAdR
B) fauemsd He&R D) R HdHR

Z-23-B 13




86) m m

mmm?wmmmmarmswaam
A) ITAT AP C) TU® IHTh
B) 2dY HAHR D) 3EARIT ITTHT

§7) QO ARG AT AR AU AT e

A) Y ST H §E M argA TR C) "Bl SaedlAR H qd e AT THVIR

B) ‘@Y Saeu=aR Y §d AMSEY arged THUIR D) "B’ SiFcaHR H T MY agA TFHUR
88) AT / TREATH....oovcvninrenmenissness

A) R C) rdehld

B) gHOY D) Rafe

§9) TS regraT e I @S Ty fAast. 3aer

A) FfAATA qreTea fAEomr S0 C) SHRIE 39TH araomdy 7Y
B) BRI HIASUIRT YaersT D) AEd SEy FHEEAT R gl A,
JYaaT AT {4

90) GHTE" 7 T UsaRY FATIT UecHAE Har.
A) AT aFdAEdT T C) e cuFdiALer gagrd
B) el Agaidathier ST D) e HeHAUT IETagarsT

91) FEUNaeed Wieerdr THH ST AT,

A) @7 A AT - SIIHAOT T C) AR TR @I - TS HUTETAT HIATTAS
B) Iofel A 93d FII - ASE5 HON-ITAT groarl ardr Id.
BT FTEN FIA {1 AT D) ERTEY AT o - T gl THAREAT
3Tard.

92)wmmmmmmmm.

FIEIIATETS! FRFTET FedTa] af TRAT ol 0d gid, Feordld Al
A) TTegT gsgray qrofl. C) faema Y fAsd 8.
B) JMedTdll @Ml Td FHA? D) GBI Nrar A,
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93) \mmﬁaﬁmﬁ‘maﬁmﬁa'm@a}*%mm\mmeaJW

A) Wrawge fRarae ©) Iwafay Bhargg

B) @gad feamae D) Ty vardr ardy
94) fa@uas QT T arEwERTAT FAERS arevER Aear

A) dlsg@ "ot C) ¥TuITE FHyoy

B) de geor D) dfz Feor

95) JEIT ASAYSA 398 e,
A) Tn

C) R

B) & D) are
96) AFATHS Fell HSW. “TeT TR 7HG qred)

A) &reT C) AT

B) ST D) drcelr
97)mm-'waam%mmmamm

A) F AT C) FHAURY gavr

B) T T D) ®HIOT waT
98) ATATAT 3T AFA AATEege Y FiRe domar wserm FgoTdId.

A) faRryor C) FEar faRor

B) o7 fareryor D) ¥fafaa FwaEmas faRvor
99) “dr fasa 3@ ar fausrde #16 Naar.

A) HIHET FTa C) sfasawfasy &

B) TAAANEST F1z D) IrT UegY ATEY

100) FATATRRTFZA &3 IHRUATT HTAT ' AT AFATAT TAET HISET,
A) AFTFHHON C) FHPART
B) q¥wasoft D) TaEHY

15
Z-23-B



